

Which one does not belong?

	25
	15

	33
	40



Tell or show why it does not belong with the others.



_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

Which one does not belong?

	9
	27

	15
	16



Tell or show why it does not belong with the others.



_________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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